Montageanleitung /Assembly %
KA 3320 Hellich

INTERNATIONAL

www.hettich.com

Schnitt- und Montagehinweis
Sizing and assembly

Panhead-Schraube ¢4,5 (#10) Panhead-Schraube ¢4,5 (#10)
Pan-head screw 94,5 (#10) Pan-head screw 94,5 (#10)
'
Spanplattenschraube 94,5 (#10) Spanplattenschraube 94,5 (#10)
Countersunk screw g4,5 (#10) Countersunk screw 94,5 (#10) ‘
Montagefolge

Assembly steps

Hinweis:
Bei Befestigung der Korpusschiene
in jedes passende Loch eine

Spanplattenschraube setzen.

Note:

The slide must be fixed to the
cabinet by screw fasteners in
every available hole.

KA 3320-05/03



Bohrposition fiir Schubkésten (mm)
Hole pattern for drawers (mm) Korpusvorderkante
ke Cabinet front edge

ri X=310 —_— —

13+ 76 127 76
2 T

70
il
|
2175 5x9,5 08 8x10

17,
ka 3320310 - =3 -
——  X=30 ———
7 EEN
s :

m‘ 05

KA 3320/3 60

5
2685

+

4

+

X =760

| 776 08 8x10
Y = 865 i
ka 3320860 '
f———  X=910 ————
7 13 76 7365 76
-@ 1 ]

as‘ 5

5320910

827 08 o915 8x10

X = Schubkastenldnge
Drawer length

Y = Mindestkorpustiefe
Min. cabinet depth

KA 3320-05/03



